Second MATH 4512 mid-term exam: Oct. 23, 2015 NAME:

(Bach problem is 4 points)

1. Find the Laplace transform of cosat and sin at.




2. Find the function whose Laplace transform is s/(s? + 4)%. (Hint: Use the
identity £{—t f({)} = £F(s).)




9

4. Using the Laplace transform, find the solution of the initial-value problem

1 0<t<4
di;gy +4y = 0 4 ; : ~ " and y(0) = 3 and y'(0) = —2. (Hint: Use the identity

LLF®}A{g(®)} = L{(f * 9)(®)})
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3. Using the Laplace transform, find the solution of the initial-value problem
2
j‘i—zy + 4y = cos 2t and y(0) = ¢'(0) = 0.
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5. Using the Laplace transform, find the solution of the initial-value problem
2
Ly—24y+y=te and y(0) = y'(0) = 0.
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